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Introduction

The assessment of Hindi focuses on different linguistic competencies:

e Reading Comprehension 40%
e  Grammar and Vocabulary 30%
o Writing 30%

The assessment objectives are in line with the goals and objectives of the National Curriculum

Framework (NCF) for Primary Education.

A great majority of students have acquired the essential skills in reading and writing. However,
some candidates found it difficult to attain the minimum grade to pass. A significant number
of candidates performed well on the basic and intermediate tasks across the competencies

assessed.

In reading comprehension candidates were able to retrieve explicit information from texts, but

in higher order reading skills where there were inferences to be made, they had some difficulties.

In writing, most candidates were able to write simple syntactically correct sentences but some
candidates struggled with the correct structure of sentences and the use of appropriate

grammar and vocabulary.

Question 1A

This question assesses candidate’s knowledge of common vocabulary. Candidates had to
identify the pictures and to label them. Most of the candidates were able to give good answers.
It has been observed that many students wrote the English word instead of Hindi resulting
into the loss of marks. For this exercise, the word must be correctly written in the language to

be awarded the mark.



Question 1B

This question assesses reading comprehension ability at a basic level. The candidates were

required to match a sentence to the corresponding picture.

As compared to 1A, candidates were able to successfully match the sentences with the
pictures. Most of the candidates did not face difficulties.

Question 2A

Question 2 assesses a range of grammatical structures through multiple choice items. The
grammatical items tested the use of tenses (past tense, future tense), prepositions, conjunction,

pronouns, adjectives, etc.

The following item were found to be challenging:

Ttem 4: BX R T 37 & 1T § AR T 7 |
Many students answered ‘S’ instead of; Fie.

Question 2B

The purpose of this question is to assess candidate’s ability to use vocabulary in context.

The best-done items were:

Item 1ﬁ%ﬁma?%§#a§aﬁj?/3v—e?wmg?m/
Item 4%@#@@@?/%%%@%@/
Ttem 5: 3793 %1 &cTH el 1o T&1 & | I8 Teh 7% etd =11eq |

The following item was challenging:

Item Z:Wgﬁélﬁ@%wgqu@ml

Candidates had difficulty to read and understand the word ‘TE% .



Question 3

This question assesses reading comprehension at an intermediate level, more specifically the

ability to locate information. This year, the theme was the launching of an “Essay Competition.’

Overall, performance was satisfactory. Most candidates were able to show that the basic
reading skill with literal understanding has been acquired. Most items were answered by
candidates. The questions were simple and candidates were able to understand and locate the
answer without much difficulty.

» Items1, 2, 3,4,5,6,9and 10 were successfully answered.

Nevertheless, the following items were found challenging by some:

»  Jtem 7: € JIGFIIGT fhG 8T 3IRY g1 ?

Many candidates were confused. They answered "$3 /91" instead of the starting time which
was "33 T .

tem 8: JUH JRFR &% T H FT AT @8 ?

Many candidates specified ‘§led # 3&a’ or ‘§led’. For those who answered only the word

‘389’ it was considered as an incomplete answer.

»  [tem 9: TR 3779 JIGIIfIaT H YT &I+ IT8d dl 37T9eh1 9T AT &7 ?

Some candidates had difficulty to find the answer from the text.
= Item 10: S THAGA FHE ?

Instead of specifying many candidates answered "37€JT9% " instead of "H&A HEATIF’, thus, they

lost marks.

Question 4A

The main focus of Question 4A is to assess the candidates” comprehension at an intermediate
level and also their ability to locate certain information in the passage. The candidates were



given a passage with the story of a boy whose grandmother was attacked by thieves and how he
showed his courage by getting them caught by the police. The overall performance was
satisfactory for this exercise whereby one can conclude that the candidates have acquired some
basic reading skills and they were able to read and spot the answers from the passage and
selected the correct options.

This was a Multiple-Choice Question and it consisted of 5 questions bearing 1 mark for each
correct answer. The majority of the candidates were able to score good marks in this section.

There were some confusions in the following:

- Item 1 involving vocabulary words such as WERRA (cycle) and HIX TR
(motorcycle) which appeared in the passage.

= [tem 2 involving vocabulary words such as THAAT, SEAT and 8.

= Item 3 whereby some candidates did not pay attention to TEY U written in bold.

Thus, they chose other options rather than the very first thing done.
= Item 5, some candidates faced difficulty in choosing the correct adjective SEIGT to

describe the character of the boy in the passage.

Question 4B

The main objective of Question 4B is to assess the candidates” comprehension skills such as the
overall meaning of the passage, ability to observe events in chronology, inference, etc.

The overall performance was satisfactory. However, some candidates faced difficulties as
regards the following:

» [tems 2 & 3 - Candidates were slightly confused while answering interrogative words
such as &’ and FAY. Hence, in some cases these questions were unanswered.

* In some cases, candidates lifted whole sentences from the passage to answer. Due to lack
of precision in their answers, it was difficult to make out whether they were able to read
with understanding. Therefore, it was difficult for examiners to reward such answers.

» [tem 5 - Most of the candidates were able to write the events in chronology.



Question 5A

This question evaluated the candidates’ knowledge of sentence structures and their ability to
write correct sentences in Hindi while paying attention to the proper syntax. Most of the
candidates were able to score good marks in this question. Two jumbled sentences were given
and the following was observed:

" Jtem 1 - The following sentences were accepted - AS{cTaT qraiel § X &M 2 | and
e et R E |

» [tem 2 - There were four options for this jumbled sentence and most candidates
performed well.

Question 5B

This question assessed the candidates” vocabulary and their ability to write contextually and
grammatically sound sentences in Hindi. The candidates had to complete three sentences.
Candidates” grammatical and spelling accuracy is rewarded. The use of verbs and agreement
posed some difficulties.

The following was observed -

= [Item 1 - Candidates were not acquainted to the name J99a and did not pay attention

to the verb being in masculine form. Eventually they mistook the boy to be a girl and

wrote STHR @l & | Spelling mistakes such as 7%1777T, 7%74?, qq, :17%’ T8, Td etc. were
noted. Many of them have been able to understand the conjunction T and complete

the sentences with proper syntax.
» [Item 2 - This sentence was mostly well done by many. However, some candidates were
unable to use the conjunction 3?7'/%/? to complete the sentence and there were some cases

of irrelevancy.
= [tem 3 - In this sentence the candidates had to make use of SIS and 45 conjunction.

Many students kept the same tense (i.e future tense) to write a relevant sentence but
some have wrongly used past or present tenses.



Question 6

This question evaluated the candidates” comprehension skills and ability to analyse a context
and connect the relevant vocabulary to the latter. This was a cloze test and a list of ten words
was given. Each good answer carried one mark. The overall performance of candidates in this
question was satisfactory. The following was observed:

» Many candidates were able to complete the cloze test and scored very good marks.
~  Some candidates had filled the verbs ‘GehTdl’, T&d1” in the wrong contexts.
= There were some confusions regarding the words &' and TGG whereby some

candidates have swapped them.

Question 7A

This question assessed the candidates” grammar, vocabulary and spelling. They were given
five incorrect words and they had to write the correct form in the blank spaces. Many
candidates scored well in this question, however some of them faced difficulties as far as
correcting the spelling mistakes was concerned. The following was noted:

= Item 1 - Some candidates replaced the case ¥ by the pronoun & instead of the case .

Some others replaced the case i by .
» [tem 2 - Candidates had to correct the spelling mistake in AT and write AT
but some wrote TeTaHl instead.

» [tem 3 - Many candidates were able to score full marks for this item whereby they
had to change 3791 to Y1 in the sentence.

= [tem 4 - The word %I had a spelling mistake and the candidates were expected
to write THI1. Many were able to score well but some faced difficulty in writing the
correct alphabet.

= Item 5 - The candidates were expected to correct the verb for the pronoun qH. Mostly

above average and average students were able to score full marks here by writing



FN. Some spelling mistakes were noticed with the alphabet 7T whereby students

wrote Wﬁ T etc.

Question 7B

This section of the question evaluated mainly the vocabulary of the candidates. It was a higher
order question and most of the high performers were able to score good marks. Spelling mistakes
were penalised, hence only the correct vocabulary and spelling scored full marks. The following
was observed:

» tems 1&2 - Many candidates got the correct answer for these two whereby they had
to write TeT@T and ST,

= Item 4 - Candidates were able to identify the correct abstract noun ﬁ?ﬁﬁr but made
some spelling mistakes like ???373? ?ﬁﬁ? ﬁ?ﬂ?

» Item 5 - Here again the candidates were able to identify the correct word 4Tt but
made spelling mistakes such as 4THI%, THIF etc.

Question 8

The aim of this question is to assess candidates” ability of using simple cohesive devices such
as adverbs of time, manner or place or coordinating conjunctions to write a short but coherent
text based on pictures and a set of words. Candidates were required to use the given words in
order to write one sentence on each picture while making sure that their five sentences made

up a coherent story.

As noted in previous years, some candidates still struggle with this question since it often
involves the skills of writing sentences using relative pronouns and conjunctions and other

details like time and location.



Candidates are expected to demonstrate the correct use of the linking word while focusing on

all other transformations required for the sentence to be meaningful and grammatically correct.

Item 1: Uk Gdg —GhH

Candidates produced simple correct sentences such as T e grefsit gl STl 8 | or long
sentences but with some grammatical or spelling mistakes such as Y geig Th ﬁﬂg@ﬂ? g
=5l @Y &1 oft | Nevertheless, some issues were noted with grammar and syntax. In several
cases, candidates produced meaningless sentences such as: Th fo7 3Gt et 2 / Wf@ qe

aﬁzgw
Item 2:3@'3?373—??277

The given words invited a complex sentence such as: HS HHY §lc dg = Tl F T A B |

P GHY §18 98 379 WX JT99 3T W& & | but at times with some grammatical errors e GHY

EI 733377? 9 g8 T ale @ oft | Few candidates also used T2 317 synonym for e THI &l
which was not discredited, if the sentence was correct. T8 a8 39-779?7 9 faereRt iR 73| Many

candidates struggled with vocabulary and syntax, giving answers as: 733@ THY <18 Sled! _§fl
Item 3: g‘»‘#’ﬂ‘ a - firr

This was the best attempted item in Question 8. Candidates could write very simple sentence

with the given words just adding a noun or pronoun 39-779?1 4 <16t /a8/ § R T3 | Some
candidates also attempted to write longer sentences gwﬁa@aﬁﬁmw R 31 mﬁwgm

Yo o RO A g4I 4 fidt |
Item 4: 39 AT — HGS

This item posed some difficulty to candidates, with many struggling to understand the gender

of the vocabulary and to formulate error free sentences such as 39 TTT T 3G TGG AT gl



39 GHI T 37T5H1 34! 7aq 2139 959 Teh cTghl Wt gee F & ot | Few good attempts

were as follows 3T THI TF STTGH! IGF] 73T - HATATE |

Item 5: 3d H — g=gaTe

This item was generally well-done although with some grammatical or spelling mistakes like:

d 4 a7el 318 37IGH] %1 G=aIE 11 I, 7T 37 7 GGG | 37d 7 44 I8 4=a1g 131 | There
were also some excellent attempts like 37 H GIGISI GG % 101U 34 371GH! &l =IaTq Fierd? & |

Issues observed are as follows:

» Students in general are acquainted with the given words for as they are found in the
textbooks of Primary education.

*  Some could attempt the question quite with ease and were successful in writing
sentences with more than 6 to seven words without any mistake. These were students
who scored 2 marks for each sentence.

»  Some students made good effort to write long and meaningful sentence but due to few
grammatical or spelling mistakes they were partially rewarded.

= At times, candidates wrote syntactically correct sentences using the linking words but
changed the meaning of the sentences. Little credit can be given to such responses.

» Some students wrote sentences which were not meaningful and/or forgot to use a given
word.

*  There was a common list of vocabularies which were wrongly written.

»  Some students could not understand the meaning of the given words and as a result

they could not produce meaningful and coherent sentences.



Question 9

Question 9 assesses candidates’ ability to write a coherent piece of continuous prose. It assesses
higher order writing skills, especially, candidates’ ability to develop a given storyline creatively
and coherently, use accurate grammar to express themselves, their ability to use varied sentence

structures and the richness and appropriateness of the vocabulary used.

The following prompts had been given to guide candidates:

Az fHAR &1
&=d g1 E BT

Ue sl Hag & 1o7¢ JRAT
319 T FA 6 ?

37 4 &1 BT 87

-+

Composition 1

IR 1 1e7 8 | Hiem a1 8 | 4 655 % {1 4 @ict &1 off | 95 9= I B @ @ 9 |
% Teh =] Haa & 1o18 YR Tel ol | § a7 Qo 34 =il o] 4T |

g dgie T ot | F 7 378 33717 37K 313 T | 3 F BH A Wi IR e GH @ WA | (60
Words)

This composition is barely relevant, with its description of a day at the seaside and a lack of
focus on the topic. As for the language, it is clumsy and uncertain throughout, making it
difficult for readers to understand what the candidate wished to express. As a result, it does not

deserve to score the minimum as it is barely relevant.
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Composition 2

371 FITAER 8 | Hied Ger1 8 | foar 5t 3 7 %) 2 13 59 995 3R STt | 5ie] 59 63
foh R ST & S7e7 7= U A @ S §

A A 14 %! TITTd §T G1 | 89 A U HaG & 107G 3G =l ! STeX [+1eTl | 87 =
3G = 1 YT Y 4 5371 ¥ F=d A dlctl | H dgcid-dectd #1 W oG 7971 | 71 4 36
T 1397 3R o= &1 9 197 | @ % 976 89 3TH1 3G & ¥ <N 37T | 37d § Ga 1619 o7 |

At a first glance, this composition appears to be satisfactory. There is an attempt to develop the
storyline. A few grammatical mistakes can be noticed. Yet, upon closer scrutiny, we can see
that the content does not deal with the incident at the beach causing a crowd to be gathered
near the water. In addition, the essay is replete with numerous grammatical and orthographical

mistakes which implies that it can only score very low marks.

Composition 3

3711 TGaR & | 7| a1 & | 7 379 TRAR & 619 GY3-a¢ ST g |

8T g & 7T 3R fiar 5 9 &1 ST 4 geae Ued 8 | 7 3794 WIE o @ g Sar g | &
38 32 1 @ @WeTd & | ST U ool HaE F 1o7¢ YA Tl & | STed] & 89 39 % e
ST 8 | 8 g F @ | 38 A1 75T ST 2 | F 38 = & org g B ST § 7R R 36
919 G5l § | 981 36 HIA1-19a71 770 € AR I TA R TIAE | (96 Words)

In comparison to the previous composition, this essay scores above average marks since the
storyline is complete with elaborate details. A variety in sentence structures can be observed.
The language is generally secure despite some mistakes in grammar. Richness in vocabulary
can be seen with additional details to explain the course of action in the middle of the story.

Some more details at the end of the story could have earned the candidate even better marks.
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Composition 4

3771 R 7 a7 8 | Hem Gar & | fuarsft 42 o 8 1o &0 @5 e SITeh | 89 g Gl 8 |
FH AR EIA € | 71 71 89 58 FeheTd © | T8 o751 87 G5 G TgoId © | 5 R 8 QT FHeahierd
1 TH IS % A9 GHA A |

FO R A1E 8 AR W DI 87 0 14 © | T G5 & 1671 STTd & | T afeel] TrH1 H Qerdl ¢
| ST 9 GG & 101¢ TR o1 | 98 TH1 & 37 Al 7197 | 98 R el el | T3t a1
ST 2 | 8 38 T STt § 1 F Ut % SR R § | F = !yt § SR 36 M1 & R
TSI | 81 TR 36 HIal-9a1 8 | 3 G gaTe 9 8 | W A B gF RAE 8 | (138

Words)

This composition is a very good piece of work. It fulfils the objectives of this question which is

to produce a piece of work using creativity and imagination while making use of rich and varied

details and vocabulary related to time and location: q?aé Wﬁg%‘:ﬁé @?ﬁé? olq, 3T,

FgT W. The candidate made a very good attempt to develop the story with simple and short

sentences in a very natural way. Few complex sentences were used such as $& F e F SR
T BI TET A A8 | and ﬁaﬁﬁmﬁgﬁﬁﬁ%%ﬁwgl This is as much

as can be expected from a candidate at this level and this composition scores highly.

General Response:

The response in general was not much satisfactory compared to past years. The following

observations were made:

» Many students did not attempt the question or made an effort to merely develop the

canoas.
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* Some students wrote average essays in an attempt to develop the canvas with basic
details and having a limited vocabulary.

* In an attempt to write good essays with some additional details which showed the effort
put behind, some students tried to write good, meaningful and coherent sentences.
However, they were simple and lacked imagination.

» Compared to the past years, few excellent examples of essays could be retrieved from
the batch during marking and it was also observed that the quality of the language has
gone down, which can be explained by lack of classes during staggered classrooms
practice and revision work during the lock down period.

»  Some common spelling mistakes were as follows:

ST, &, Sictal, Yidrst, Wi, die, =1, 711, d1c] 4, eR9ard, §d , JRET, 74, 7,

»  Some common idioms used were as follows:

& 72

% gt o1 ST 71 T

* FI FHE

% 547 8 a1 Al g5 M=ot vt
= G =TT STHIET B T

£ oAl 7 G

* TG yeA o

Some conjunctions and rich expressions used were as follows:

% / GE1E / T/ / ThITH / Tei=1 GHY T41Q / €841 / Gole &1 sicll / ST1erilehd il /
Tl 31 ST /I8 1o B 7 4 e Sifewd M1 / T8 QAR 178 SAfemvfiag 8 / =13 |

SISl . R oA
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